Q.3 fu T YT 3R fFrewl ) wFgd® 11 98 A §¢ 6 Sy § & 7 TR 99 g,
U & UE WHIRT U A Fid a2t J Fid wella gt g1, au &% % fu e foreeut & @ B
Y e HUHT BT aIfhd wU F SR Fd T

DY
CIERIGIC IR IR
e e g B
Tt wre, fia 21

forp:

1B T, Taret 78 21
I1.PYE oTeT, Wihg TRl 2
11.PYE Tibg, drar Tt 81

Ans ;1. 9t P SR v €
X 2. %aq 16 | 3R || SRRV R4 §
2 3. Had F 11 3R 111 SRV R §
X 4. Had Fispd | &R 1 TR0 B &

Question ID : 65497843484
Status : Answered
Chosen Option : 1

Q4w o Gwedt & ¥ 3F WA T TS w1 W e @ F TFaTs RS (7) F T W AT
T gl

PR

Ans

ar

<2

< 4

AHEF

Question ID : 65497844402
Status : Answered
Chosen Option : 1




Q5 %ﬂéﬁﬁﬁﬁﬁﬂgﬁwgﬁua‘rﬁaﬁf@a Joft ¥ weraree 7 (?) F ™M W e
I

16, 33, 100, 401, ?
Ans 7 1.2006
< 2.1588
X 3.804
X 4.1235

Question ID : 65497843486
Status : Answered
Chosen Option : 1

Q6 37 faweT @ 9o w TwH & T8 agpia wieated § (A H AT J@ )

%

Ans
<1 ]
5
<2 VY
L
=<3 (1B

Question ID : 65497843091
Status : Answered
Chosen Option : 2




Combined Graduate Level Examination 2021 Tier - |

Roll Number
Candidate Name
Venue Name

Exam Date 11/04/2022
Exam Time 12:30 PM - 1:30 PM
Subject CGLE 2021 Tier |

Section : General Intelligence and Reasoning

Q.1 fou g FHterur # Agferd w1 & R for <1 ot &1 3 & sgar 9T 9nfee?
384+16-72+9x10=2
Ans X 1.43R8
X 2.63R9
7 3.73R9
K 4.33R7

Question ID : 65497844399
Status : Answered
Chosen Option : 3

Q2 HeRY F I WA BT 99 B o - &t 7 okgen F fraa wT # wite Fu @
WM TR 98 @a B guf S|

_LH__U_H__U_H_NU__EN
Ans X 1.E,UNLNELEH,L
A 2.UENLELHLEH
X 3.UELENNLHNE
4. UENLENLELH

Question ID : 65497844596
Status : Answered
Chosen Option : 4




Q7 o & afew & @ AEREEE @ e §) ger @9 ) 9 @ S g

7 .5

6‘4 38!

Ans

X2

Question ID : 65497841977
Status : Answered
Chosen Option : 4




Q8 ¥R 3&R-TE Ry e ¢, i & A7 feht 7 fseht e @ 7o § okt s 1 3
ST JEGR-FHg PT TG B |

Ans X 1.LOSXD
7 2.ZCGLS
X 3.NQuzF

X 4. FIMRX

Question ID : 65497843072
Status : Answered
Chosen Option : 2

Q.9 Ifia, 3 P Ul & oyt =t fAfdar & g3 81 gRel, /g1 &1 aren € foras! 3
3feai § AfeT 15 Je1 781 §1 75T, FHA BT TS 3N T BT HIS 81 37 iR
g9 (a1 & g €1 979 o) ) Tfde A g€ § ofik 37l &) aftwi sk uw Ser @1
3¢9 BT TP 9271 3R TH a1 81 A1 3 Ryan, anforit o afeai §1 qeelt afgarfza 21
IR T IgT | T HEY 82

Ans 1 ORf
X 2. |
/< 3.981
X 4.9

Question ID : 65497844391
Status : Not Answered
Chosen Option : --

Q.10 T JUTHR U Bt YeIT 12 m 71 f UTch F T1RY SR 24 m Yol 91T U avieR sftan
TITT STa €, ol T Afed Ui &1 $o amwd fhdn grm?

Ans 1. 144 m?
/ 2.576 m?
X 3.324 m?
45 4.288 m?

Question ID : 65497843589
Status : Answered
Chosen Option : 3

Q.11 wvgﬁmmmﬁﬁﬁmmmﬁﬁwmeﬁvammﬁm@a
AR

N
2.

3. qMH

4. foemerema e
5. 95

Ans X 1.1,54,23
/2.1,5,4,3,2
X 3.1,5324
X 4.4,51,3,2

Question ID : 65497842768
Status : Answered
Chosen Option : 2




Q.12 Tt fAf3a e yTar & MONEY %Y PRQHB & F1 & forar T 81 St e v &
CREDIT &1 fordt ®u & foram sirgm?

Ans X 1. FUHGWL
«/ 2. FUHGLW
< 3. FUGHLW
& 4. FHGULW

Question ID : 65497844593
Status : Answered
Chosen Option : 2

Q13 = gor @ Pifa fF % HgER 'PQ T W A @ a9 e e ghes & ador # e wdr
giatee Tafaa 41
P
%OVeRtHRo\V&L

A R WoSdHIAaV O
K2 HWOAHI AV 0 ¢
K3 lOASKIHEOMNE
KadWoAdAHIALEV O o0

Question ID : 65497844405
Status : Answered
Chosen Option : 1

Q.14 fr=ifdrd AT &1 wryd® s 33 o fiw e fawe & & 39 HEn &1 997 ®¢ St
T Uy g (7) & R W 31 GPdl g

713174
925104
11307

Ans X 1.100
X 2.335
< 3.129
4. 431

Question ID : 65497843085
Status : Not Answered
Chosen Option : --

Q.15 s fAf3d He uTaT #, 'RAKHI BT 36-2-22-16-18 3T 'SHALU' Y 38-16-2-24-42 & U &
Feas T SraT 81 I Fe W F, 'MANJU B fFa T & Feas fmar s

Ans 7 1.26-2-28-20-42
< 2.26-1-14-20-42
75 3.13-2-14-10-24
X 4.13-2-28-10-24

Question ID : 65497841964
Status : Answered
Chosen Option : 1




Q.16 TiT AR U iR & SR o= Bt SR o gex 49 §1 31 OR W ¥ &t safar &

Y o S ¢ 3R g1 Ao § | U guan aafd ua gfow safad & S e e
H 93T 81 TP PUGR e T dieqal safed & o1 91¢ d | do7 8 | Ifdr =,

S ofik gadt safekral & S ot A Jor 31 PR A A s waaa Ha § Fo182
Ans X 1. gfgHE
7 2. 39dl

X 3. BHIR
X 4. et

Question ID : 65497844392
Status : Answered
Chosen Option : 2

Q.17 Fafafa Tliaor o g we & R e ) Temsil & smow § o fr <t g
DY ST H Fga ST A1fey?
24 +16-96 + 48 x 12 = 195
Ans X 1.24 3R 48, x 3R +
< 2.24 3R 16, - 3R =
7 3.12 3R 16, x 3R +
K 4.12 3R 48, x 3R +

Question ID : 65497843491
Status : Answered

Chosen Option : 3

Q.18 wﬁmmmﬁﬁh?ﬁﬂﬁmﬁwﬁwmﬁa%ﬁmwgﬂﬂww
@ § "ala 21

23:441::28:7?

Ans 7 1.676

X 2.494

XK 3.692

XK 4.528

Question ID : 65497841972
Status : Answered

Chosen Option : 1

Q.19 I fpey o1 TG4 B &l TR 18 A I ypR Gaftd & T TR gOvT U8 Uga ug 9
e gl
PATELS : BQFUTM :: NECTAR : ?
Ans ./ 1. FOUDSB
X 2. Fopusz
< 3. FOVDBS
# 4. OEUDQB

Question ID : 65497843578
Status : Answered

Chosen Option : 1




Q.20 %W%Wﬂﬁwﬁwgﬁua‘rﬁa%@a groft & weraras g () F R W e
|

10, 14, 31, 35,73, 77, ?
Ans X 1.90
7/ 2.157
X 3.154
X 4.81

Question ID : 65497843081
Status : Answered
Chosen Option : 4




Q.21 e smgferdll & woTer & v g F A W wH (e i #) gl T Ak 73 ge Fee W
Frea i Rl el i &) aaﬁ?wémaw%mmmﬁmsﬁﬁr(ii)a:@gvmﬁm

foreram s e

U]

O

O

O

Ans @
x| /

O

Y

AN

<

O

N AN

O

&

x4 N\

<>

8
O v Qe rgllen e r d

Question ID : 65497841982
Status : Answered
Chosen Option : 2




Q.22 o & 9 & AR FET-HET FEEU FuE 7§, O o e 9w 1 ﬁeﬁﬁﬁmwﬁ
¥ 37 Ew @1 99 &Y S Er ' 9T Gold & fAudia arel etk 9T @i

Gooe

X2 4
v3 3
X486

Question ID : 65497843494
Status : Answered

Chosen Option : 3

Q.23 Wﬁf\%@? UTHT &, *her father is okay' @ 6583 %wﬁ'mﬁmmﬂ%, ‘my father
is well' BT 5137 % U H Hegs fohaT TT § 3R *her arm is injured’ FT 2839 & ¥ § B
foraT T 81 I Fe W H, "okay' F T fory Te &1 v fopan a2

Ans 1.6
K25
X 3.8
X 4.3

Question ID : 65497843076
Status : Answered

Chosen Option : 1

Q.24 foer 3w nyw &, gzwvr ‘gow RwET @ giier &, ST wEeT S R § g A @
T & iR T smfaEt # aefer &1 & 7 FEmw 5w Ry Aoh F faat & gwm & i

9|7 g 32
157
4

Freer TR YR Sifre e ¥ Ak AR i §2
Ans 119

X2 8

X3 13

4 11

Question ID : 65497843599
Status : Answered

Chosen Option : 4




Q.25 ﬁqnq%ﬁarcq’fﬁﬁwar&mmmmﬁvﬁﬁq siaett B Wfg (?) & I U S
g gl

KYBA, FTEE, AOHI, VJKO, ?, LZQA
Ans X 1.PFNU
X 2.QEMI
7 3.QENU
X 4.QDNI

Question ID : 65497843474
Status : Answered
Chosen Option : 3

Section : General Awareness

Q1 e = Frafafea 3 @ fra 7 3 weme T 22
Ans /1.9

X 2.7

X 3. et

K 4T

Question ID : 65497844419
Status : Answered
Chosen Option : 3

Q.2 U od TR H UFA B AT IR Dl S ¢
Ans X 1.ggqSid

X 2. Sftarg

X 3. gD

o 4. i

Question ID : 65497843608
Status : Answered
Chosen Option : 4

Q.3 SHast 1931 ® TgTer Midh Bt S | Rg1E & are, Fio Aarsi A ufds $t pRar ot
YT 99 & ferg T gerepTd B

Ans X' 1. 93d
o 2. 3CEIEIG
X 3. TER
/< 4. DAdl

Question ID : 65497842000
Status : Answered
Chosen Option : 4




Q.4 2011 T TTUAT F SFHAH STHHEIT T F SR, HR § I B! $o 9190 Sien &
YRTIOT STe SEST BT Wia=id fba-m 82

Ans X 1.55.23%
X 2.62.45%
X 3.79.03%
7 4.74.05 %

Question ID : 65497843108
Status : Answered
Chosen Option : 4

Q5 ICNGIA__ & s IRa o Rt 8
Ans X 1. Tirqiiear

X 2. gAes fomeH

X 3. sffegferan

4. g Ty M1

Question ID : 65497843522
Status : Answered
Chosen Option : 2

Q.6 g STIGR ARIFEH 1956 F AR, =T aefitaa W= oM arehl &g Afgen 3t TuRr w=
ger SRR A # & fraer gar 82

Ans X 1. 3Yb HI-Oar
X 2. 3P Ufd & B aiE
7 3.39& ufd
X 4. 39S U1 S BrLH ARG

Question ID : 65497842004
Status : Answered
Chosen Option : 2

Q.7 WU T SrAgaT 3T W& AT (PM-AASHA) # UCH ¢ oIl TRPRI P
IS P PiAd iR g F Rig Hifa, Hero § ervery 1R R o 79 79 R g
ATH M & T ThaTd RSl $3a B

Ans X A4.@l
.V/Z.Fﬁ:I
X 3.U=
X 4,318

Question ID : 65497844412
Status : Answered
Chosen Option : 3




Q.8 FRY pexant Aag FafufEa & @ $i9 w1 wifla arr som w3 42
Ans /1. 9rfeH

K 2. TSI

X 3. AewRA

X 4. dion

Question ID : 65497843095
Status : Answered
Chosen Option : 3

Q.9 IS (chordates) T F ial & Ty ¥ Frafefaa & & 19 w1 = Tdl 82
Ans X 1. 378 U TET U% SURd S §

7 2. T IS8 Yoo YR S §

X 3. 37 fgeia 3 T vug] U S §

X 4. 578 geg udia a1 ur w0 fRyd a1 rufRed g §

Question ID : 65497843101
Status : Answered
Chosen Option : 4

Q.10 BRIt 2021 §, HRA F A o= 3 TP DI Y AT A 3R % @I faafea
3T T SIGIATelT & foIe T faare gary= Ififd (DRC) Ft RITT=T Ft °iwom $i

Ans 7 1.%50 79, 310 A9
X 2.%20 91, 35 A9
/< 3.310 U9, 2 WG
5 4,357, 31 ARG

Question ID : 65497841986
Status : Answered
Chosen Option : 2

Q.1 frafafea & i Aswa Y (bad lands)” T TS GBI BRI 82
Ans X 1.3{c dui

X 2. gar

3. 3D TR

o 4. T&T IR

Question ID : 65497843511
Status : Answered
Chosen Option : 4




Q.12 YR BT 19 AT (ECI) T & o iR FFreqer gma) 71 wedt § iR WReg dfae &
W3O IwT S Oefid yraue Wi g
Ans X 1. 3{TRG 101
X 2. 3G 356
/3. TG 324
X 4. 3Tw0E 352

Question ID : 65497844429
Status : Answered
Chosen Option : 3

Q.13 Uiferaw & Hivg Fafafea & § o7 &1 9iffe siafie gg= $9H1 ok RegARal & oo
ol # S BT BRI a9 Feva 872
Ans X 1. 9ifggm
< 2. Uy
X 3. Sfermq

4. TR

Question ID : 65497844417
Status : Answered
Chosen Option : 2

Q.14 ragfd DI 24 3 2021 V YRA F Wd T ATATA HT g1 v forgaa fan
e

Ans X 1. PieRd Hyg SR
X 2. AR U X5t
7 3. JYSUld debe o
X 4. SSTHERT T o=

Question ID : 65497842002
Status : Answered
Chosen Option : 3

Q15 _ % R wirar 3w ¥ ufds Suad § Hexfdaes Ioad HATT ol ¢
Ans X 1. Y TS

< 2. daT

X 3. Plcd

A PR

Question ID : 65497843500
Status : Answered
Chosen Option : 4




Q.16 Td YR Feard @ grta ot = 2021 § Fafafea # 9 fra 0 & g @

Ans X 1. ST THH
X 2. 1S T3S Ut
#< 3. THHl T
7 4. TS THEt

Question ID : 65497843624
Status : Answered
Chosen Option : 2

Q.17 CH3CH,OH T a1 TifTes T A1 7T &2
Ans X 1. uRifew TS

7 2. THId

X 3. TIRGH

X 4.7

Question ID : 65497843610
Status : Answered
Chosen Option : 3

Q.18 udIe TS| $T HIE Bl
Ans X 1.5

X 2.10

X 3. 15
4. 20

Question ID : 65497843109
Status : Answered
Chosen Option : 2

Q.19 YRA P Tuic § Yaftd TS (NIP), B fdieR 2019 # YIRT & Fi fa= w=ht gy

Hif¥a o am o1, &1 guf =0 T 82
Ans X 1. ATFd SN UIlae (National Indigenous Project)
52 ﬁwﬁ&wmﬂzmﬂﬁa (Negotiable Instrument Protocol)
8. zj@f«rs’e@w Gﬁ:{ﬁlﬁzﬂ (Neutral Interventions on Payments)
4. AR SIREER UI3UAIE (National Infrastructure Pipeline)

Question ID : 65497843603
Status : Answered
Chosen Option : 4

Q.20 Rfe o1 IFTEFS Udte w1872
Ans X 1. Ac

/2. As
X 3. An
X4 Ar

Question ID : 65497843504
Status : Answered
Chosen Option : 2




Q.21 e tE oty T 57 T e ¥ S B E2
Ans X 1. T s¥e

X 2. IRNYR

/3. TIGIYTS AIRISH

X 4. SR W™

Question ID : 65497843619
Status : Answered
Chosen Option : 3

Q.22 WIRS! 3R RIal & RIS faaw, 2021 3t fw Fmfafea § S w2
Ans X 1. 4ifgdl & fe7¢ faRRIT (Heritage for Generations)
2. Sifed sidld: ﬁﬁ%ﬁ% yfasg (Complex Pasts: Diverse Futures)

X 3. T (Y, TS faRrd iR W foriiar (Shared Culture, Shared Heritage and
Shared Responsibility)

X 4. I RISATHIGAT (Rural Landscapes)

Question ID : 65497844425
Status : Answered
Chosen Option : 3

Q.23 Wfyur quT F HeH A, Frafiafea ¥ § o9 w sy we 82
Ans /1. SFE 1950 H TG FHT T APIAH B 3R b

2 2. TR 9y A 1 1947 T URA B ATHSA DI A1 bi GY Bl
< 3. SHaRT 1948 T Afae™ gHT A I8 1 & ffipR foa|
2 4. TRAYT [HT A TS 1949 T IET @S B SO

Question ID : 65497843117
Status : Answered
Chosen Option : 2

Q.24 3iiF & U & TgW (nut) Bt T HET STl 87
Ans X 1. QMG (Chestnut)

/ 2. 9qd ®I d (Acorn)

2 3. DI < (Kola nut)

K 4. DHTSTRAT (Macadamia)

Question ID : 65497841991
Status : Answered
Chosen Option : 4




Q.25 FyfifEa & A $19 T g5 THed T UM o1, et STaT Ui YR & J9=1
3R NPT & Y ATIR $IA & I T deg & =u § fobar sirar 412

Ans /1. 3iR&HAg
X 2.qlud
X 3. qemgRye
X 4. e

Question ID : 65497843514
Status : Answered
Chosen Option : 2

Section : Quantitative Aptitude

Q1 IR (4x+2y)% + (4x — 29)% = 16(Ax® + Bxy?), & L(VAT+B7) W AW T 2
Ans X 1.7
X2 8
X33
- B

4

Question ID : 65497844445
Status : Answered
Chosen Option : 4

Q.2 ©x FR IEF 276 km, 50 kmvh @1 T = & ST & SR e 316 km, 70 kmvh Fr sifwe o @
Teer &1 9 @ & v siwe o= (km/h F) w0 oE?

Ans X1 3D
X2 80
3 59
<4 585

Question ID : 65497842019
Status : Answered
Chosen Option : 4

Q3 8./3 sin 30° tan 60°- 3 cos 0°+ 3 sin?45° + 2 cos230° & HT AT FHY
Ans N -]2

X215

#3 18

X4 9

Question ID : 65497844452
Status : Answered
Chosen Option : 1




Q4 ?Jﬁ'cos(A—B)=VT§ AR secA=2,0°cA4<9050°< B <90, aF B T AT FT &7

Ans oy o
X2 60°
3.30°
X 4.90°

Question ID : 65497842027
Status : Answered
Chosen Option : 2

Q.5 g7 % ¥ 9% TEw A HifEw, TEY 108, 124 R 156 #r Renfem s W G/ I9Ed W gar
&l

Ans X1, 12

X218

/3 16

<410

Question ID : 65497843626
Status : Answered
Chosen Option : 3

Q.6

=S sa9s &1 "J19 79 ST

980 +35x16+4—-2x%X2
Ans
x1 15
2
X 2. 556
xa !
4

4. 448

Question ID : 65497843627
Status : Answered
Chosen Option : 4




Q7 Teram oy Tree o U ey A AT 3 Efores aifewas (2 /) srawmarg

R F7 3O 1 31T 309 718 BT T 9o T Ieaw &)

wrcary 3o A Ay A e
wTisiA® (7 #) @ aren R

[

20 w

w0 1m0 .10 w3 .32 .8 naoam

R (3 H)

2180 B & i T gra are st A §er. 2190 @ 3w e nitfie ua are #T3w r @=ar & fras
ST 22 SRS F U OF 5% 8 Seav &l

Ans X 1. 85.6%
2 74.8%
X3 75.8%
<4 86.7%

Question ID : 65497843144
Status : Answered
Chosen Option : 3

Q.8 ww g #r wars v diE F FHU: 8% F FAl AT 10% Fr FAr AT S T W AvGA H
i gk a1 FAr FF v &1

AN K1 1.8% & gfa
K2 1.8% #r FaAr
/3.2.8% Fr FA
K4 2.8% W

Question ID : 65497844642
Status : Answered
Chosen Option : 3




Q.9 frwifra o o 2014 ¥ 2018 &% A 3T B 9o & Frt (T e ) ¥ e # ofar 31 aw
T NTAT FY AR 3TF 98 T T 997 5 39X &)
2014 ¥ 2018 o= wied A 3R B X afews &) & #xt a7 G

oL mp

300

o (@ e )

2014 ¥ 2017 # B ¥R # &I & Fa fdia, 2015 ¥ 2018 F A v &1 il & Fo fodhg &
fraer Sfdue #fUF 32 (@R & U TUE @ e

Ans 1. 5.6%
<2.72%
X3 4.9%
X4 8.5%

Question ID : 65497842838
Status : Answered
Chosen Option : 1

Q10 g o) TF &1 3eTaT ST 3R 3§F ag fGT 910 W97 & 3o anerTl
TR IME 2014 T 2018 oF A T B 9o & FRT & T (2 @fens ) Fr axfar 2

ferae & ar?
Ans 71 2014
<2.2015
«3 2016
x4 2017

o4 @3

g 99 F A TR R &R w0 @aTE, 9 T6 & B W T SRt sileg e @fa a8 9 55

Question ID : 65497844151
Status : Answered
Chosen Option : 1




AN =7 gt g &1 18 (om #) T &, BEH T s H S 8 om §?

Ane K1 44/2
V2. 443
X3 342
K4 34/5

Question ID : 65497842025
Status : Answered
Chosen Option : 2

Q12 Rr=iferg o o€ F o 9iER & [T A7 | B e A1l s geiar T &) 9REr & A
21,08,000 &M &1

Rafar (misc) T @< fovar 7 s, @it & [erw (children education) T & e 1T sawr @ frdar

(z &) afwE?

fafdvest 7l a3 @y AT =

I Children
70

Education

Food
65°

Ans 11,500
x 21,800
X3 1,200
x4 1,350

Question ID : 65497843647
Status : Answered
Chosen Option : 1

Q13 i wg 1 2832 # 9@ W G o, IW IR F 448 F I W gF A F WK ¥ IR g
T 10% gl 9% 30 S § O SHHF 9T Hed T gem?

Ans 1. 2578
X2 3640
X3 2625
X4 3540

Question ID : 65497844439
Status : Answered

Chosen Option : 1




Q14 ;
Ao ag U= &7 719 A9 ST

(a2 — 452 + 64(b? — 4¢2)® + (162 — a?)?
(a—2b)° +(2b—4c)? + (d¢c—a)?

X1 dla+2D)(b+ 2c)(dc+ a)

X2 —(a+20)(b+2¢)(dc+ a)

U3 2(a+20)(b+ 2¢)(dc+a)

X4 (a+2b)(b+2c)(dc+ a)

Ans

Question ID : 65497842022
Status : Answered
Chosen Option : 4

Q.15 we frve 9 & T3 10 3 # @ I FI& 7.2 2722?#%135;@#%?@403@#
# stga @ Ye war @ =nge?

Ans x4 7
X2 4
X386
4. 5

Question ID : 65497844133
Status : Answered
Chosen Option : 4

Q18 oo ey Thamr 31T v FeaR HAR WAAT FHE R 50 TR e § R ws ¥ ofrd @ He ¥ R e

ST 0T 60° TAT HIAT & ool FI JTAHA 0T 30° §1 AR ANAR A 5918 76 m . Y @sy fAFag m )
Bk

A K1 193
&2 57
319
X4 38

Question ID : 65497843645
Status : Answered
Chosen Option : 3




Q17 500 ¥ 650 (2w Fr WiEATE w gv) Wi freer W ¥ S 3 i 7 @ @
Ans s 1. 87
<2121
<321
<499

Question ID : 65497843524
Status : Answered
Chosen Option : 1

Q18 amgfy e s RARw frod v v ow 3t F g R 27,800 3T 5 a6t & wro s 211,232
HEGH G e C i E |

Ans /1. 20%
X2 15%
X3.18%
X4 26%

Question ID : 65497843128
Status : Answered
Chosen Option : 3

Q.19 v FeleR dee & =R AT TR & T 45 m ¥ 3w Svwe 105.75 m2 &) 2100 wiy dfrex
W Y TR W G5 TS ¥ AT A

Ans X 1. 3275
A2 3400
<3 3600
v 4 2550

Question ID : 65497844141
Status : Answered
Chosen Option : 4

Q.20 23 m s @, U Togd, ST ¥ v AT oA @ 3VE m I Rud ¥ @ GG 2
T F TG FOFA (65 T I gO, T F G0 W 415 m IR e e aw oo &
e gamn s §1 'sE f s (m o A) e 2

Ans 1, 35
X2 22
3. 39
K417

Question ID : 65497844450
Status : Answered
Chosen Option : 2




Q.21 &% O =9 v 3o #, ShaTe PR AR QS, 30 =grw o W fig T w fendr § 3l PQ 0@ w1 oo
£l °fg £ROS = 42° &, & PTQ & AW raar §7

Ans X 1. 5go
< 2.48°
/3. Bg°
<4 58°

Question ID : 65497843539
Status : Answered

Chosen Option : 4

Q.22 v fAsr urg & 40% =Y, 30% arar T 30% Tfker &1 25 kg Trsr urg & Rreelr il (kg #) T
& Tl e afr Jv & urg # 50% TR @ Je?

Ans 1§
<2 20
X312
X410

Question ID : 65497843529
Status : Answered
Chosen Option : 4

Q.23 X, Y 3K Z v w7\ F wA 46 e, 92 R v 23 RE # qw W wwa §1 X & w1 o B Y,
2 @ & @ 38 WY FF 9T R Z T ¥ 8 R & @ 5w Wiy gaar 7, A X A fhaw Rt

T FA T2
Ans 1. 18
X216
X321
X4 13

Question ID : 65497844442
Status : Answered
Chosen Option : 2

Q.24 A B R C & Tl § T wwEwT w BTl OF H, A F 229,000 & Gider R, wefs B aw C,
gedeR & 725,000 F1 FEwr B 4 7Ee a1, A 7 23,000 faeer el 2R 2 " g6, C & 212,000
3T oy BT S F 3T F I[3200 F W H ¥ C (2 A) v fewwr A SR

Ans 111,067

w2 12,400
X'3.10,000

410,800

Question ID : 65497842016
Status : Answered

Chosen Option : 4




Q25 20 cm = T T ged @ B O I T 9rd ¥ R Touw v Rig & R TA g & = w@ &
afy OT = 26 cm &, & FRI@r TA & 1§ (om &) fraer 82

Ans 1 04
X2 28
X318
X420

Question ID : 65497843134
Status : Answered
Chosen Option : 1

Section : English Comprehension

Q.1 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

The first meeting of the Standing Committee will be hold next week.

Ans X 1. No substitution required
" 2. will be held next week
< 3. will be holding next week
25 4. will held next week

Question ID : 65497843562
Status : Answered
Chosen Option : 2

Q.2 Select the INCORRECTLY spelt word.
Ans X 1.Retrieve

/% 2. Return
X 3. Retort

«/ 4. Revange

Question ID : 65497842058
Status : Answered
Chosen Option : 4

Q.3 Select the most appropriate ANTONYM of the given word.
Tenacious
Ans X 1.Relentless
<5 2. Persistent
3. Yielding
X 4. Steadfast

Question ID : 65497843164
Status : Answered
Chosen Option : 3




Q.4 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Do you / recall to meet / her at the party / last night?
Ans X 1. last night
25 2. Do you
«/ 3. recall to meet

& 4. her at the party

Question ID : 65497843148
Status : Answered
Chosen Option : 2

Q.5 Select the option that expresses the given sentence in passive voice.
Give the child a nourishing diet.
Ans X 1. The child is given a nourishing diet.
25 2. The child must have given a nourishing diet.
« 3. The child should be given a nourishing diet.
#5 4. The child was given a nourishing diet.

Question ID : 65497842039
Status : Answered
Chosen Option : 1

Q.6 Select the most appropriate synonym of the given word.

Taciturn
Ans X 1. Verbose

«/ 2. Reserved
#< 3. Lively
25 4. Noisy

Question ID : 65497842051
Status : Answered
Chosen Option : 2

Q.7 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution required’.

Of the two plans submitted by the architect, this is the one more likely to be
accepted.

Ans X 1. most likely
#< 2. most likelihood
«/ 3. No substitution required
5 4. much likely

Question ID : 65497843664
Status : Answered
Chosen Option : 3




Q.8 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

He allowed / his son to drive / but he warn him / of the danger.
Ans X 1. his son to drive

25 2. of the danger
«/ 3. but he warn him
& 4. He allowed

Question ID : 65497842036
Status : Answered
Chosen Option : 2

Q.9 Select the correct indirect speech form of the given sentence.

Mother said, “I’'m worried about your safety.”
Ans X 1. Mother said she is worried about your safety.

25 2. Mother told me that she had been worried about my safety.
#5 3. Mother said that | was worrying about your safety.

</ 4. Mother told me that she was worried about my safety.

Question ID : 65497843157
Status : Answered
Chosen Option : 4

Q.10 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.

A. They can help you to decide the right products for you.

B. Advertisements can be extremely useful if they are honest.

C. Teenagers are especially vulnerable to such advertisements.

D. However, some advertisements may be harmful as they try to befool you.

Ans X 1.BCAD
<7 2. BADC
X 3.CDAB
/< 4.CADB

Question ID : 65497843665
Status : Answered
Chosen Option : 1

Q.11 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

Did you baked / the chocolate cake / yourself this time?
Ans X 1. yourself this time
3 2. No error
«/ 3. Did you baked
25 4. the chocolate cake

Question ID : 65497844459
Status : Answered
Chosen Option : 1




Q.12 Select the option that can be used as a one-word substitute for the given group of
words.

Walk or move at a slow, relaxed pace
Ans X 1.Strut

7 2. Amble

< 3. Romp

& 4. Prance

Question ID : 65497844481
Status : Answered
Chosen Option : 2

Q.13 Select the most appropriate synonym of the given word.
Vertical

Ans 7 1. Upright

X 2. Parallel

#5 3. Equal

5 4. Shaky

Question ID : 65497843666
Status : Answered

Chosen Option : 1

Q.14 Select the most appropriate meaning of the given idiom.
Cake walk

Ans X 1. Something tasty

< 2. Something sweet

</ 3. Something easy

25 4. Something enjoyable

Question ID : 65497843569
Status : Answered

Chosen Option : 3

Q.15 Select the option that gives the most appropriate meaning of the underlined idiom.

The Chairman of our company takes care of the rank and file in the company.
Ans 7 1. Ordinary people
#< 2. Documents and files
25 3. Only the top rank people
X 4. Officers

Question ID : 65497843166
Status : Answered
Chosen Option : 1




Q.16 Select the most appropriate option to fill in the blank.

Global warming or climate change has today become a major to mankind.

Ans . 1.threat

25 2. penalty

25 3. punishment
25 4. endanger

Question ID : 65497844483
Status : Answered
Chosen Option : 1

Q.17 Select the option that expresses the given sentence in passive voice.
She gifted me a beautiful handbag.

Ans X 1.]am being gifted a beautiful handbag by her.

5 2.1 have been gifted a beautiful handbag by her.

«# 3. | was gifted a beautiful handbag by her.

25 4.1am gifted a beautiful handbag by her.

Question ID : 656497843654
Status : Answered
Chosen Option : 3

Q.18 Select the option that can be used as a one-word substitute for the given group of
words.

One who supervises students in an examination hall
Ans X 1.Inspector

< 2. Examinee

</ 3. Invigilator

X 4. Teacher

Question ID : 65497842056
Status : Answered
Chosen Option : 3

Q.19 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

We stayed / in Jim’s flat / during he was / on holiday.
Ans X 1.inJim’s flat
25 2. on holiday
25 3. We stayed
</ 4. during he was

Question ID : 65497842742
Status : Answered
Chosen Option : 1




Q.20 Select the most appropriate ANTONYM of the given word.

ROUGH
Ans ./ 1. Smooth

25 2. Coarse
X 3. Thick
& 4. Crude

Question ID : 65497843567
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of
alternatives given. Select the most appropriate option for each blank.

The importance of physical exercise in (1) the incidence of heart attacks cannot be
under estimated. The rise of heart attacks has been attaining (2) proportion in recent
times causing grave concern specially to the medical (3) . Walking is the best mode of
physical exercise which (4) no equipment, money, material or (5) of a club.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank number 1.
Ans X 1. maximising

</ 2. minimising
2% 3.increasing
X 4. emphasising

Question ID : 65497844465
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of
alternatives given. Select the most appropriate option for each blank.

The importance of physical exercise in (1) the incidence of heart attacks cannot be
under estimated. The rise of heart attacks has been attaining (2) proportion in recent
times causing grave concern specially to the medical (3) - Walking is the best mode of
physical exercise which (4) no equipment, money, material or (5) of a club.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank number 2.
Ans X 1.low

</ 2. alarming
< 3. capacious
25 4. soothing

Question ID : 65497844466
Status : Answered
Chosen Option : 2




Q.23
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of
alternatives given. Select the most appropriate option for each blank.

The importance of physical exercise in (1) the incidence of heart attacks cannot be
under estimated. The rise of heart attacks has been attaining (2) proportion in recent
times causing grave concern specially to the medical (3) . Walking is the best mode of
physical exercise which (4) no equipment, money, material or (5) of a club.

SubQuestion No : 23
Select the most appropriate option to fill in blank number 3.
& 1. creed

o/ 2. fraternity
2% 3. persons
X 4. class

Question ID : 65497844467
Status : Answered
Chosen Option : 2

Q.24
Ans

Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of
alternatives given. Select the most appropriate option for each blank.

The importance of physical exercise in (1) the incidence of heart attacks cannot be
under estimated. The rise of heart attacks has been attaining (2) proportion in recent
times causing grave concern specially to the medical (3) . Walking is the best mode of
physical exercise which (4) no equipment, money, material or (5) of a club.

SubQuestion No : 24
Select the most appropriate option to fill in blank number 4.
1. requires

X 2. finds
< 3. gains
< 4. loses

Question ID : 65497844468
Status : Answered
Chosen Option : 1

Q.25
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of
alternatives given. Select the most appropriate option for each blank.

The importance of physical exercise in (1) the incidence of heart attacks cannot be
under estimated. The rise of heart attacks has been attaining (2) proportion in recent
times causing grave concern specially to the medical (3) . Walking is the best mode of
physical exercise which (4) no equipment, money, material or (5) of a club.

SubQuestion No : 25
Select the most appropriate option to fill in blank number 5.
7 1. membership

X 2. exemption
25 3. scholarship

X 4. correlation

Question ID : 65497844469
Status : Answered
Chosen Option : 1







